FXNEHRFHAETREI—T 5 VRERNEER ENEN

OEBHREL I YIRS QHMEEMDILMEIM (H20-28@EHERPELD)
A ‘ ' « JLEDKEEE « 18 HEEDEHRHENS < . ESEEBITIHNNET

A fl _ \ - REQIHEBItIED (BEESEOZEC8E)
s - 1 A S ot N
B XA  ESILRNBRSENS, Ll 0 ST
| / ﬂ ~
R _ . B)ICIHESIL (BIIZRBREOPEE B
. kS \
AIREFRHTT - FRPXE L i A
R e R R e rems B T O VB AR ) .
. B CRERRTE - SEHE (TE) T iSO
FHEELARIEEEX : | FEEElL-ERA \‘ :
EREHIESH O VI E N % AL - R | =2
Bt Tt , AT Suvs _ Bl = scsnm / =\
= ratrcntnesmes Camay R & BE - WA /. \
EH A A R ! : ' < % SBAE - ER =N
[ fetstnesmes cmem / O : : - .
] _ & 1NN ; {EE - FeRAIA £
— ?ﬁ%%% | FH Aj } el | R £
"Eq H T N : F=Eik - =fA ! : o
BB SHE BT R : é ;Z?éh 7 | 5ies 2 fE2t - R , T — B
m— R T |EE S ; {‘ o | : 3 [ha S7c ) EEERERRAF 24 ;::I.L.:E 7N\
) . / AHHE AL e X | - S S
B sotE ERE S Al , H (fos T em e i) - % FEEAIT B
! \ EMHH 2N {
| ﬂﬁﬁﬁg»ft%ﬁ% f;_, 5 f -
415N i3 : 0] exesim f
°00000 HIHIEAR _ @ e , ‘ [ ] watmwsn 4
—— 8 - BR —FEMEDINE DK ii7 IR AR VR AN i —
S (ié“!;fﬂ;% ; N mm ‘ #2E0E
——— ek - ER _:;: apashy AN <o
i | i &.
B S 7 R R ' SN R
#E-TH y EEERAPLREE o /
RS NG R B I ; AR :
EkT 5 AE0ER) = A B
S~ B géé%;iw‘ & | (GO C U s +§§ﬁ§{ﬁmﬂ)‘
BT : ESELSAATY U—RED I TN GRAGT) )
11%&55%
sk rERal =— i?xr;s;ﬁ/ :m_z A ] URE SRR E D VRS (i) |
= TIRERAN
FERR (THERRTI 7Y - EESIES T \
(OREHE) R LER
; = \ TS TRK SRR hj
@ _ \
Bl N Dam | miET esemmmsms 75 76— T B (UR)
C
BR 20204 VE YT - = SRHRETA ) F R \\
RS0y D BERE g (S5 E)
[ |FIDESER EERE A S L ol sl =
TR Fﬁ@%’;@fféﬂgm AR R | EEEEEETT R o4 ‘ Xha \) B ERER 440
2 &+ e BRI B AR 5 § / >
(H30 % 1 AEEFRE) sempeE O _ _ : . BRAKERER EHEE
BEU R y = 1§ tEEYEsnE | BEAREOMEEERER § - Wi DREDHHKE EEFi"JS 1
) g IE R ﬁ*wﬂ & A B o o 2z H_hazthilhz 4 R4
Rt z " A e FEERAREZSTEEDER ﬁ%ﬂ FHFABTREHN TR azEHIL<
P rremrs | CEMMENMEEECS S | mxmel ' DENE%E25% - 50%Et1Y 3 X% F15200% & 300% 11 1]
MESF 437, (H28 % 11 BRIEE) | (K FE1530%) U 3R% A
| RS LERER) | FHRERAE [ |Bfere—7SvuBsshoER By 1000 N T IRE AR
: — - = . - %
—— i ~ i TAR—FS L -
AammLe e T I i SEEEL BRI ? REEEEEEE 10#4/ha
(I E) (R RS RS ) - -X -------- 50% X 300% 20
y U (s]
=SB EI=IE L _ il e BT =%1H -X____;_“ 8. 5/ha
= ﬁ‘——'__—___}mm == ' | _x ________ 2504 _X ________ 200% FEHIEE
-¥-------- 1.5 /ha
gl EFI R X o #/
v 0% v DIEL




	スライド番号 1

